Mo rong da thue

(c+ 2)(5x% + Sx + 4) — (2x — 2)(x + 3)

(x2+3x+ 5)dx—2)—5x4x+5

x+ (3 —2x)3x— 6)(x+5)

(5% — 6x—3)(6x—2)— 6 X 6x— 6

6x — (6 —4x)(4x — 5)(2x — 2)

Ngay thang: Diém:

x— (4 —6x)(6x— 6)(4x —2)

(o —6x+1)(x—1)+4%x2x+6

(5x* = 3x+ 1)(dx—3)— 5 x 5x— 1

(3x + 4)(Ax+3)— 5 +x+4

(5x% + 2x +3)(dx+ 1) = 3 x 5x— 3
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Mo rong da thue

Tén: Ngay thang: Piém:
(x+ 2)(5x% + 5x+ 4)— (2x — 2)(x + 3) x— (4— 6x)(6x — 6)(4x — 2)
50 + 132 + 10x + 14 144x° — 312%° +217x — 48
(2 +3x+5)dx—2)—5x4x+5 (* — 6x+ 1)(x— 1)+4 x2x+ 6
453 + 10x% — 6x— 5 X =T+ 15x+5
x+ (3—20)(3x— 6)(x+53) (52 = 3x+ 1)(4x—3)— 5 x 5x— 1
—6x° — 9x% + 88x— 90 20x° — 27x* — 12x— 4
(5x2 — 6x—3)(6x—2)— 6 X 6x— 6 (3x% + 4)(4x +3) — 57 +x + 4
30x° — 46x° — 42x 1223 + 4x? +17x + 16
6x — (6 — 4x)(4x — 5)(2x — 2) (5% + 2x + 3)(4x+ 1) — 3 x 5x— 3
32x° — 120x% + 154x — 60 2007 + 132 — x
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